MATH 8
SAMPLE TEST UNIT 4
(6.4, 6.6, CHP 7)
100 POINTS
NAME:
Show your work on this paper. EXACT answers are expected unless otherwise specified. No Graphing Calculators. No scratch paper

\~asw*® ang one of these,

Fill in the blanks. (2 points each) i?_Co%le—\
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(1)  Give an identity for cos(20) =

(2)  Give an identity for sin(a— f3)= D LﬂVCO?B 1"(,0%3’5(;’\@
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(3) Give an identity for cos 5 = 2. 2 Sln
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(5) cosl2°cosl8 —sinl2°sinl8 = Cos(12t 1) = s 205)

(6) True or False: smife) simplifies to sin@ r"~ L%Q/

(7) Express sin30cos760 as a sum %(s"‘“’“ﬂ"("le)) or Ji(s'"’DG‘S'W@)
12 sin 10g Fsin (-40)) Pn)duzc’r fo sum formulor

(8) Using identities, find the exact, simplified value of: (2 points each)
(You must show work, for credit. Calculators should not be used on this problem)
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(9) Simplify: M (simplifies to a number) (4 points)
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(10) Given the following information about 0, . (6 points)
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(11) Given cosa——% a in the third quadrant, and sm@——, —<9<;z
Find: o 0'2 6) N\ (6 points)
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(12) Prove the following identity. Presentation should be very clear (6 points)
costo-t+sInto = |
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(13) Find x, exactly. Then give the approximate value to 3 decimal places: (4 points)
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(14). Give the simplified, exact value of the remaining parts for all possible triangles

satisfying the given conditions. /4=30°, a=6 c= 6\/5 (No need to put

values into your calculator for approximations) (6 points)
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| Find all solutions to the following equations. (6 points each) |

(15)  cos(2x)=2+5cosx

209 x—| = AFSCosX
2005°x -5wsY -3 =0
(zcosx + 1 Wcosx —2)=0

(16) sin(5x) —sin(3x)=0

Sum to produest
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| SOLVE the following equations: 0<x <27z (6 points each) |
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(17) sinf+4sin(260)=0
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(19) 4cos(20)-4=0
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(18) 9—4sin’0=12cosO
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(20) sec’ x—3tan’x=-5
ton2c+ 1 —-2{an’x- -5
-2ten?*x = ~6
tenix = 3
tenx= V3

3/ 3 3, 3




(21) (7 points)

. Two wires tether a balloon to the ground, as shown. How high is the balloon above the ground?

Thee are dffecnt ways
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~Length A 100-foot vertical tower is to be erected on the _ _ 100 s1n9% SN /ST
side of a hill that makes a 6° angle with the horizontal (see In= Con 75 = i ni5
figure). Find the length of each of the two guy wires that
will be anchored 75 feet uphill and downhill from the base
of the tower.
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